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COMMERCE
PAPER - 1I

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  From the following statements of Assertion (A) and Reasoning (R), indicate the correct
code :

Assertion (A) : Industrial liberalisation became an imperative condition for the growth of
forces of competition leading to high efficiency and productivity in Indian
industries.

Reasoning (R) : Industrial development and curbing of poverty is only possible through
government intervention.

Code :

(1) (A) and (R) both are not correct.

(2)  (A) is correct but (R) is not the correct explanation of (A).

(3)  (A) is correct and (R) is correct explanation of (A).

(4) (A) is not correct but (R) is correct.

2. Which of the following statements are not correct ?

Statement (I) : Sustainable development means an attempt to achieve the balance
between economic growth and conservation / protection of
environment.

Statement (II) : Sustainable development means meeting the needs of industries
without compromising the needs of import - export balancing.

Statement (III) : Sustainable development means creation of sufficient surplus budgets
through stock of capital assets including land.

Code :

(1) Statements (I) and (III) (2) Statements (II) and (III)

(3) Statements (I) and (II) (4) Statements (I), (II) and (III)

3.  Match items of List - I with List - II relating to macro environment of business and indicate
the code of correct matching :
List - I List - II
(a) Economic environment (i)  Ethical issues
(b) Political and government (ii) Trade and transport policies
environment

(c)  Socio - cultural environment (iii) Economic stratification of population

(d) Demographic environment (iv) Judiciary powers

Code :

@@ (b) () (d)

M) @ ) O )

@ O @) @ @)

@) G @ @@ 0

@) @ O G @

a7 H|| :
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ElUS)
q99-uT - 11

et =9 -3 | uemw (50) dg-fashedd U9A €1 U U e (2) 3ok T 1wt g ifard B

1. frAfafea fusker (A) 3R ek (R) & T A & HEl He H1 99 HiT

USRI (A) . ATTH ISR Yfaeaeli e & fowm & fau sevas wd 51 =, fSeeh
TROMHEEY HRTE SeT H ST 921 Sc1eehdl | Jfa g8 |

ek (R): SirEnfiTen foerm R fefwan 1 a0 # e shae Thil s s § 999 ¢ |

<

(1) (A)@R(Raﬁa@ﬂé%

2) (A) T fHY (R), (A) F TE e T T

(3) (A)a‘ér%aﬁuR (A)Eﬁﬂ'@m%l

(4) (A) T & T fohg (R) 9t €1
2. fr=afafes & 9 #F 9 woF € @ g ?

weA () : Hegta fomm o1 219 smifeler gfig qom Taieror 1 T&l/I6T o ote Hgad o
1 IT T |
YT (I0) : Haeta faewm &1 a1¢f smama-frafa dgfea e & savaswae ¥ g9z feu
TS STl i STTaTEeRATeT ol T HA ¥
HUT (D) :  GoArg fasr o1 319 yfy |fed gSit Rewafd & =i & e 8§ 9908 e
SIS T oI AT B |
e
(1) A (1) 3TR (1I0) (2)  HAA (1) TR (I11)
(3) e (T) SR (1) (4) e (T), (I1) 3R (10I)
3. HOEM % Y& Rew 9 Hetud gt - 1 3R gEl - 1% 7al 0 Gaferd Hitse qe Tet fie™ & e
CARCRIER IR
T -1 et - 11
(a) 3Tk qafaRo ()  STER Hett 78
(b) TSI 3R TR feR (i) AR 3R uRees i
(c) HmHIfSIh —HiEehfdeh Faferyl (iti) STHEA 1 SAfeF TR
(d) SFHifEThE e (iv) e wfha
e
@ (b) (9 (d)
1) @) (@v) (@) (i)
(2) (@) (D) (@) (iv)
(3) (iv) (i) (i) (i)
(i) (@) (v) (i
s [T ; Faper
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4.  For which one of the basic reasons, the “Structural Adjustment Programme” was undertaken
in India in 1991 ?

(1) Curbing competition among private sector
(2) Establishing predominant role of public sector
(3) Establishing a free market economy
(4) Regional balancing through planning and licensing
5.  Match the items of List - I with List - II and indicate the correct code of matching :
List - I List - II
(a) Micro external environment (i)  Economic and political factors
(b) Macro external environment (i) Competition among diverse products
targetting disposable income of consumers
(c) Non - price competition (i) Input suppliers
(d) Desire competition (iv) Sponsoring of events like sports
Code :
@ ®) © (@
O G 6 G @
@ @ @ @) 0
@) G @ @@ 6
@) @) O @ @)
6.  Assertion (A) : Debt - equity ratio indicates the long term solvency of a company.

Reasoning (R) : It measures the ability of the company to pay off its long term liabilities.
Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct reason for (A).

(2) Both (A) and (R) are correct but (R) does not explain (A) correctly.

(3)  (A) is correct but (R) is wrong.

(4) (A) is wrong but (R) is correct.

7. The balance of property at cost has been I 20,000 and X 17,000 in 2015 and 2016, respectively.
The profit on the sale of property of X 2,000 is credited to Capital Reserve Account. New
property costing < 5,000 was bought in 2016. Determine the sale proceeds from property.

(1) X 3,000 (2) X 7,000 (3) 10,000 (4) < 15,000
8.  Goodwill of a firm of X and Y is valued at ¥ 30,000. It is appearing in the books at I 12,000.

Z is admitted for 1/4 share. What amount he is supposed to bring for goodwill ?
(1) X 3,000 (2) % 4,500 (3) R 7,500 (4) < 10,500

ansy [N :
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4. fr=afafea § @ #9 9 w difas FRo1 3 a9 1991 § 9Rd # ¢ G gEREiee wEwE T IE
[ERIKIRIV
(1) T &= o gfaeast 61 8 & & faw)
(2) EEIR &3 St IHE iRl T e o fau )
(3) K ATSIR STefeHeree st T9A1 & forg |
(4) TS iR AEEfET % g &g Hgad Ty & & fau)

5. g - 1 3R gE - 11 A3l &l GHfad Siteie U 9l fHaM & %e &l JaEd ¢

)
i iii)

<

11

ot -1 -1
(a) =AY s wAeRY (i) omffe iR TSHifaew HREh
(b) EHfE SR e (i) SUHIERNST % YT T I Afeid i gu fafay el
o gfaeay
() TR-oa gfqequ (ifi) STEM SYfehe
(d) aifed gfaeayt (iv) TEA-ThE SIY STTSHI 1 YA el
e :
@@ () (o (d
1) @) @ Gv) (i)
2) (@) @) @) @
3) (v) () (@) (
(iv) @ (@) (

) (@)
6. IAMURIT (A) : FHU-THAT 31U THE ST T - Fifeteh FHORNET &THa1 i AT Ll § |

qeh (R) : g Tt shul it Sreiehiferer <AATST hT YA A i &THAT hl WY § |
(1) 3R (R) S 9@ § 3R (R), (A) T T& HRU

) (A)aﬁ'{(R IH TEl € T (R), (A) T T e TE e
3) (A) ¥ ¥ fohg (R) 7o B |
4) (A) T  fog (R) 9t €

7. o9 2015 3R 2016 W fdl Hufd 1 @ 99 sHEW: T 20,000 R T 17,000 11 T =t fasht W
3T % 2,000 1 <14 Gsil STRfard @rar § s e foam ) = 2016 § % 5,000 @11 <t 8 Hafd
TS TS | Hufa | gg fosht Al a1 o sifsm
(1) ¥ 3,000 (2) % 7,000 (3) ¥ 10,000 (4) ¥ 15,000

8. X 3IRY & wH & @nfd &l god ¥ 30,000 | I8 9gt@ § T 12,000 faret T 81 Z &1 1/4

m%mmmwﬁlwwﬁ%mmﬁrﬁm?
(1) T 3,000 2) T 4,500 3) T 7,500 4) T 10,500

ransy [N ;
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9. A Ltd. issued a prospectus inviting applications for 2,000 shares. Applications were received
for 3,000 shares and pro-rata allotment was made on the applications of 2,400 shares. If A
has been allotted 40 shares, how many shares he must have applied for ?

(1) 40 (2) 44 (3) 48 (4) 52
10. Which one of the following receipts is of revenue nature ?
(1) Amount realised from the sale of investments
(2) Dividend received on investment
(3) Amount borrowed from a bank
(4) Compensation received from municipal corporation for the acquisition of land for the
construction of road.
11. Statement (I) : Business decision makers deal with the complex, rather chaotic, business
conditions of the real world and have to find the way to their destination,
i.e, achieving the goal that they set for themselves.
Statement (II) : Even without application of economic logic and tools of analysis, business
decisions are always rational and real and are not counter productive.
Code :
(1) Both the statements are correct.
(2) Both the statements are incorrect.
(3) Statement (I) is correct while statement (II) is incorrect.
(4) Statement (I) is incorrect while statement (II) is correct.
12.  Which one of the following statements is true ?
(1) Pure profit is the return in excess of the opportunity cost
(2) Accounting profit is the excess of total revenue over and above the explicit and implicit
costs
(3) Profit maximization is the sole objective of the modern firms
(4) Profit is maximum when the difference between marginal revenue and marginal cost
is maximum

13.  Which one of the following is not the assumption on which the theory of consumer behaviour

is based on the cardinal utility approach ?
(1) Rationality
(2) Constant marginal utility from successive units
(3) Constant marginal utility of money
(4) Utility is measurable
s [T 6 Fapec
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9. Afafiee 72,000 3131 o T 3EcA ST SLd T TfaaRor SRt fRan | 3,000 3791 o faQ s@eA
T g 3R 2,400 A & MATHI W AL ST A fha1 T ARG A HT 40 IR SAEifed gu Al
3T fohas SRl & o steee o & ?

(1) 40 2) 44 (3) 48 (4) 52

10. fr=Afafe i § § $A-9 S gHid =t €2
(1) et =t fosht 9 9 gt
(2) a9 @ U envim
(3) o | o TS IUR g
(4) FSH & A & fau y-315[ &g TR 7 | o aifagfd

11. ®weA () ZeE Hedt fofaehal arafass i st Sifed Sy 76— 2% aa S 9

faed € den o1 viden & faw wem femed €; tefq 3=iH S @ied W o fag
fra foren € 38 U & ¥

HA (10) : foreeroor o enifeler qeh TR ST ol @ fohu fomm oft sraam Haielt fofa wea
B Tk TG q ST Bid @ SR ek el o ¢ |

e

(1) S weH T T (2) Tl Y T © |

(3) HH (I) ULl € oIk oM (I Terd 81 (4) A (1) Tod © St e (1) T 1

12. frfafed # @ i @1 oA 9&@ 72
(1) IS Y TR AE Y e I 7
(2) TGN N T qAT S ed AN o U el STTH T e 7
(3) ST HT 1 TehH-TTH ITF 1Y I AR HET T |
(4) HHr 3T SR W AN % sE ATy 3T B R oy Sk B S

13. freAfafaa 8§ @S- ag A @ § fe susdiean sreer &1 fag= TorTes ST Sarm
smenfid § 2
(1) foamsiterar
(2) A seRTedl i Faq HH STATTAl
(3) & I Hae HH STAfT
(4)  STATET AT ST Hehel ©

oo [[HTTHININAN 7 Papec
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14. Statement (I) : Point price elasticity of demand in terms of marginal and average revenues
can be measured with the following formula :
AR
AR-MR
Statement (II) : The point price elasticity of demand is the product of the slope of the demand
function and the ratio between corresponding price and quantity.
Code :
(1) Both the statements are correct.
(2) Both the statements are incorrect.
(3) Statement (I) is correct while statement (II) is incorrect.
(4) Statement (I) is incorrect while statement (II) is correct.
15. Which one of the following is not the basic property of indifference curves ?
(1) Negative slope
(2) Indifference curves of two imperfect substitutes are concave to the point of origin
(3) The indifference curves do not intersect nor are they tangent to one another
(4) Upper indifference curves indicate a higher levels of satisfaction
16. The scale of measurement which has no order, distance and unique origin is known as which
one of the following ?
(1) Nominal scale (2) Ordinal scale  (3) Interval scale (4) Ratio scale
17. The formula to determine the number of classes given by Sturge’s Rule is which one of the
following ?
(1) K=1+3.322(log N)
(2) K=(log N)1.322
1+ 3.322
@) K=——
(log N)
1 _ 3322
@) (logN) + 1
Where : K = Number of classes
N = Total number of observations
(log N) = Logarithm of the total number of observations
18.  Which one of the following is not the characteristics of normal distribution ?
(1) Bell - shaped and symmetric
(2) Mean, Median and Mode of the distribution are equal
(3)  The total area under the curve for the normal probability distribution is one
(4) The two tails of the distribution in both the directions touches the horizontal axis
s [T ; Fapec
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14.

15.

16.

17.

18.

HYA (1) : o T T9d 3 % vedl § g wima A B @ e g gr AT S gt €
a3 q emm
3T ST — HHI 3T

HYUT (I1) : T e & T TS Gelfed hiAd T A1 % 3T 1 A% foig hiad 91 i
T Bl € |

e :
(1) 2w W T (2) <M HYF T € |
(3) e (I) TEl € TAfh e () Terd &1 (4) e (I) TToTd © STfeh ®e (I1) T 7 |

frrefafead & | SEH ash 1 hiEl T STERYA 70 & § ?
1) RS gl

(
(2) <1 YU FITEAHTT 3Tl o1 IS ok 3T foig & Tae eIl ¢ |
(3) SSTE Tk Teh GO % HIed Tal & T Th-gEL ohl TI% 78] hid o |
(4) TR H T TEA Toh P A AR TR T ¢ |

TOHT 1 SETT o 9 % 2, T g0 & SR T UHAE 3T & 3§ 1 H e gry S e § 2
(1) AT S (2) whEgES TAET (3)  STawa Sum (4) oTUE TEE

=St & fom grr ot skt wen fauifd e i e S | - w g S | 2
(1) K=1+3.322(log N)
2) K= (log N)1.322

1+ 3322
G 7 Tog )
3.322
@ K= g+ 1
Sfeifer : K = o st G&
N = J&I0lf &t Hel Ge&A
(log N) =T&I0ll i el H&AT T AMRGH

et & @ iAol T oo it ferdioand =@ ¥ 2

(1) ¥l 3ThRR T& HAMHA

(2) foawor =1 wiem, wiferent T sgersh ol Teh 9HH

(3) W HHTE forRuT % T o5 1 Fel & T Bl ¢ |
(4) foawo & <F1 BR fafas T 61 o9l & )

ransy [N 9
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19. Assertion (A) : A reasonably sized sample drawn randomly from large sized population
contains almost all the characteristics which exist in the population.
Reasoning (R) : The theory of sampling is based on the two important laws of statistics,
viz., Law of statistical Regularity and law of inertia of large numbers.
Code :
(1) Both (A) and (R) are correct and (R) is the complete explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the complete explanation of (A).
(3)  (A) is not correct while (R) is correct.
(4) Both (A) and (R) are not correct.
20. Statement (I) : If the alternative hypothesis is as Ha : wxu,; a researcher requires two -
tailed test in hypothesis - testing.
Statement (II) : The mean of the sampling distribution of mean is not equal to the parametric
value of mean.
Code :
(1) Both the statements are true.
(2) Both the statements are false.
(3) Statement (I) is true, while statement (II) is false.
(4) Statement (I) is false, while statement (II) is true.
21. Match the items of List - I with List - IT ; and choose the correct code of combination :
List - I List - II
(a) The Fundamentals of Top Management (i)  Peter F. Drucker
(b) Middle Management (i) R.C. Davis
(c) The Essence of Management (i) E.L.F. Brech
(d) Principles and Practice of Management (iv) Mary Caushing Nile
Code :
@ (b) (9 (d)
1) @ @) @) @
2 @ @) @ ()
G) @) @) @ )
@ @) @Gv) @O @)
22. Statement (I) : Management is not just a creature of the economy; it is a creator as well.
Statement (II) : He who can manage, can manage anything.
Code :
(1) Statement (I) is correct but (II) is incorrect.
(2) Statement (II) is correct but (I) is incorrect.
(3) Both the statements (I) and (II) are incorrect.
(4) Both the statements (I) and (II) are correct.
s TR 1 Fapec
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19.

20.

21.

22.

AR (A) :  TH o hHR o T8I § H 3Ifea R o1 et Sfo €9 § FHepren S @ 354
oy B Suferd et faRoansti s1 gmmEeT 2@ €

T (R) : free o1 fagra giferst & < vequl fdl W eeila €, ween gt
Frafiaa 1 fom wa 98q deed &1 sear & M|

iR (R) T W& § 3R (R), (A) &t qof =me 2
3R (R) SHT T ¥ fahg (R), (A) T qoi =men & ©
T & ¥ wefeR (R) Tt 2

R (R) ST =t 7 ¥

HeA (I) : 3R hfcqeh TReHeT T 1 9 Ha : oy o O T GeETwdl i TReEbe
e 3 fer < g o T St STaveehdl B § |

HA (10) : T1e7 o TR faaRor 1 o, wre 6 yreferes qod o SRR el el § |

<< :

(1) < FoH T |

(2) Tl ®YF T © |

(3) YA (I) T T Sk HeA (II) TTeid B |

(4) e (I) T § Safh A (II) & T

Tt - 11 761 ol GEit - [ 761 9 Gafad ST 3R 99s &1 98 he 0
gt -1 et - 11

) T Themecd 31t 2fd HAsHe () U TE T

b) foea fAsEe (i) R fom

) T 3HH ATE HASHE (i) 3.TATE. =

d) fifaoew de ey sifr fwmie (iv) B =ifem e

© @
(i) ()

@ (i)
M) ()
M (i)

) e 1efoayl i Yol | TEl €, T8 gorehdl ot ¥
) : 9% S Y H Hhdl 7, T TS Yo FH Gkl S|

1

<

— N
E: <
— — — —

~ s
<

3

il

1) FHAMTGLTTHGA) T TR (2)  FeH (1) T 2 fohg (1) T & 7
() FWED R AN ST T T €1 (4)  FAA () AR (I0) S T € |
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23. Assertion (A) : Due to these experiments (Time, Motion and Fatigue Studies ) a factory
does not remain a factory, it is converted into a laboratory.
Reasoning (R) : Management succeeds or fails as human relations in business are intelligently
or unintelligently handled.
Code :
(1) Both (A) and (R) are correct and (R) is the right explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the right explanation of (A).
(3)  (A) is correct but (R) is not correct.
(4)  (R) is correct but (A) is not correct.
24. Who among the following is not associated with theories of motivation ?
(1) A.H. Maslow (2) Cris Argyris
(3) Frederick Herzberg (4) Peter F. Drucker
25. As per the Herzberg's Hygiene Theory of motivation, which among the following is not a
motivational factor ?
(1) Recognition (2) Working Conditions
(3)  Responsibility (4) Achievements
26. When Walt Disney World’s Magic kingdom lets customers visit a fairy kingdom, a pirate
ship, or a haunted house, then what is marketed in this example ?
(1) Services (2) Events (3) Experiences (4) Ideas
27. Which one of the following statements is true according to VALS framework of psychographic
segmentation ?
(1) The consumers who are primarily motivated by ideals are guided by knowledge and
principles.
(2) The consumers who are motivated by achievement look for knowledge and principles.
(3) The consumers who are motivated by self expression don’t desire social or physical
activity, variety, and risk.
(4) The consumers who are motivated by achievement desire social or physical activity,
variety, and risk.
28. From the following two statements of Assertion (A) and Reason (R), indicate the correct
code :
Assertion (A) : A transformational appeal of communication elaborates on a non-product
related benefit or image.
Reasoning (R) : Transformational appeals often do not attempt to stir up emotions that will
motivate purchase.
Code :
(1) (A) and (R) both are correct. (2)  (A) is correct (R) is not correct.
(3)  (A) is not correct (R) is correct. (4) (A) and (R) both are incorrect.
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23.

24.

25.

26.

27.

28.

AR (A) : T TN (FHF, T 3R AH™ L) & HRON IS BRG], HRET T & Sl
¥, 9% TN B Seel Sl ¢

@ (R) : Zraard B ferat gfgart =1 Jfgar @ ame deEi 9 faer S 8, Jerem sd W
et A1 fawhet B T

(A) 3R (R) TH W& € iR (R), (A) F! W& =& B |
(A) 3R (R) I W&t € fRg (R), (A) t TR =men &
(A) W@ ® fhg (R) &t 71 21
(R) T ¥ fohg (A) &t 71 ®)

frefafed § 9 &0 1R & fagr & dag 78 872
(1) Tud HEed @) Twe afif
(3) Trefe gStan (4) WX TE TR

TSTerT o STTIR AR o TR fagr & A7aR Fefafad 8 9 -9 ARIoTesS ®RE T8l
€7
(1) == () wEH FWC  (3) SWIMFE (4) SyAfsEr

9 diee fesHl aeeyq 85 fohren Sudieretl &l Tk i, el SRS a1 Tk Yd =R i 990
AT § 1 39 IS0l H fergent foaqum Sar & 2
(1) ¥am (2) oS (3) oTvEl 4) fo=ri

A faucienton &t ared (VALS) gien & 78R fefafted § § oH-9 woF 9& § 7

(1) Teaa fa=mi ¥ fEfia F o susdear 9 iR fagr @ fdfma aa 1

2) Syafsy ¥ fdfid 2 arel Jusie I IR fagr it Wie i ¥ |

(3) ofcH AfveAfad & STFYURT B aTel IR |rHIfSTeh a1 IReR shriehary, fafasar = Sifem
T AR |

(4) ufey ¥ AFMIRG W Tt Jusdie | a1 Wi wrishe, fafauar sk Sifem ==
g

freafafaad < werl, sifieRe (A) 3iR @eh (R) § T2 $e 3 HifaT

ARTRT (A) :  TIR I TIRONT 1ol TR-3c Gaifera a1y =1 sfa 1 AR i €1

@ (R) : SO 3Tl Ige TS i SATIRG THEAarel H4rEl Sl Safsid i Sl Jamd
& A

<<
(1) (A) R (R) < & € 2) (A) T (R) 7o
3) (A) 7@ (R) W T 4) (A) 3R (R) SHI o €1
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Select the correct sequence for Hierarchy-of-effects model related to marketing

(1) Awareness— Knowledge — Liking — Preference— Conviction — Purchase

(2) Knowledge — Awareness — Liking — Conviction — Preference — Purchase
(3) Awareness — Liking - Knowledge — Conviction — Preference — Purchase
(4) Liking — Awareness — Knowledge — Preference — Conviction — Purchase

Match the items of List - I with the items of List - II and denote the code of correct

(i)

(1)
(ii)
(iv)

List - II
Set of attributes and conditions buyers normally expect

Possible augmentation and transformation the product
might undergo in future

Exceed customer expectations
Converting core benefits into product

(1) The opportunity cost of an input is considered in capital budgeting

(2) Capital budgeting decisions are reversible in nature
(8) Cash flows and accounting profits are different
(4) An expansion decision is a capital budgeting decision

Match the items of List - I with those of List - II and indicate the correct code :

List - II
(i) Dividend Decision
(ii) Capital Budgeting Decision
(iii) Capital Structure Decision
(iv) Working Capital Management Decision

14 Paper-II

29.
communication :
2
4
30.
matching :

List - I
(a) Basic Product
(b) Expected Product
(c) Augmented Product
(d) Potential Product
Code :

@ (b) (9 (d)
1 @) Gv) @O @)
2 O G (@Gv) ()
G O Gv) (@) ()
@4 @Gv) @ (@) ()

31. Which of the following statements is false ?
2
4

32.

List - I
(a) ABC Analysis
(b) Walter Model
(c) Capital Rationing
(d) Net Operating Income

Approach
Code :

@@ (b) (9 (d)
® @ @) @ @)
(2 @) @@ @) @)
G) @) @ @@ ()
@ @) @ @ G
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29. TIUUH HeER 9 Hefyd gume o ISIIshA Aied o foT ¥el ¥ 1 =9 HIfaT
(1) SRl — FE — THE — T — TSRO — BRI
(2) T[> SIETEHRA — TEHS — FSHNUMN — AT — Gl
(3) SITEHdl —» THS — T — TSURIM — I — TH]
(4) TES — ST — FMH — ST — IR — TS
30. eIt - [ 93l ol Geit - I1 < 7ol 9 gafad wifve oIk 92 7a 1 %e SR it
e -1 it - 11
(a) A IR () TN SR Tl 1 g TSHehT shdl FEIGET TR A ©
(b) sTafera g (i) UG F FAHT T TR & qfaed § FeaT @l
(c) eFafdd 3carg (iif) U hl TUES § s B S
d) = 3R (iv) T Tl Fl 3R H FgaT
e
@@ () (o (d
1) @) @Gv) (@) ()
2 @ (@) @Gv) (i)
®) @ (v) (i) (i)
4 (@v) @) @) (i)
31. freAfafed § @ & 91 weF ot § 2
(1) IS S H Tk ARG ot SR a1 4 H Tl Il € |
(2) sl mste foofer forefelt wepfa % 2 €
(3) TS YATE IR TRET &A1Y T3 % |
(4) Tomr frof ww St sete fofg ©
32. eIl - 1! WGl ol et - [1 1 7Gl & o1 Gafad ¢ IR ¥&l fe & faf=zd =
et -1 et - 11
(a) T fageivo (i) iy o
(b) e Higd (i) S sted o
(c) gt I (iii) it BT fofg
(d) IS FEeH ™ SUFH (iv) hrERRa gsi yaeA o
<
@@ () (9 (d
1) @ @) (@) ()
2 @) @ @) (i)
(3) (1 ) (i) (i) (i)
(4) (i) (i)
N-oust7 ||H| il 1
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33. Main objective of employing Financial Leverage is to :
(1) Reduce the risk associated with profits
(2) Maintain the stability in profits
(3)  Decrease the cost of debt capital
(4) Magnify the return on equity share capital
34. Which one of the following is not a method of calculating cost of equity capital ?
(1) Dividend yield method
(2) Dividend yield plus growth method
(3) Yield to maturity method
(4) Earnings yield method
35. Which one of the following equates the present value of cash out flows and the present value
of expected cash inflows from a project ?
(1) Net Present Value (2) Internal Rate of Return
(3) Pay back Period (4) Accounting Rate of Return
36. Which one of the following is not true ?
(1) Material resources are subject to laws of mechanics and they cannot have an output
greater than the input.
(2) Human resources are capable of exponential growth and development.
(3) Human resources cannot yield an output that may be far greater than what the value
of their input warrants.
(4) In current scenario, gradually, the emphasis has shifted from muscle power to use of
mind power.
37. The pluralistic approach of industrial conflict is based on which one of the following basic
assumption / premise ?
(1) That conflict occurs when the tendency of industrial society is to treat worker as an
isolated individual and deprive him of all control over his environment
(2) That an enterprise contain people with coalition of different interests
(3) That industrial conflict is a part of the broader social conflict between classes
(4) That no consensus is possible, in case of conflicts, because people are with different
socio - cultural backgrounds.
38. The Job Description Index (JDI) Technique is used for measuring which one of the
following ?
(1) Job attitudes (2) Job descriptions/definitions
(3) Job analysis records (4) Job skill requirements
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33. faxira SdieTs & SYANT 1 Y@ $e9F § ¢
(1) 4 & | Heolg S hl FH HE (2) ¥ T SR T
(3)  3RUI YSil il AN HH HEAT (4) AT 3T GSH U™ H STEEA R
34. frAfafEd § & =1 o yonet 9 St i @R S T HE T T OIS TE@ © 2
(1) IS TS Jorett (2) TN 3T ok W Jhg Jomedt
(3) ufRusEdr qe TSI JuIet (4) T TS Yot
35. frAfafad § 9 F 91 T IR & ke dfcaiel & odd™ qod 3R STTAT qa1 STl o
A Hed 1 T BT § 2
(1) s AH g (2) ST T
(3) YA 3Tafy (4) TR T I
36. frfafed § 9 ®F 1 9 & © 2
(1)  «ifqer Ganem Aifent & fmil & e § o1k 3 ffd 37k strma | sifyes el &1 gaha €1
(2) THE O " gy iR fawm | gam )
(3) HME GHIEE 31 T 300 TRI h Hehdl © Sl Sk STNTA oh HHIYT Hod § +ff el a1f¥en |
(4) oduH 9iged H, fR-4R sRe 9 & TN 9 iy e AEfae 9d o gan ) fean s
MR
37. STl e o1 agerardt U frefated § & fea Hifas A=/ snerems ) el € 2
(1) =Nt TS 1 HEFR § T JoE Ah o &9 § FE8R HL 791 34 397 e | G4
freiror & Sifed 3 #i ygfa § G 3= e 2
2) Toreh sem H fafi fodl o Tesiea &% @M 3
(3) TN o ot & < mae |t Hed e ¥
(4) ded ot feufa § 1 gehamfa Gva T8 § Hiife am fum-fus arfses, aiepias g9yfh &
g
38. TSR foeror Yaehish (H.€1.3TE) Tahdleh o1 M ffafed # & forass 7 & fore foman s € 2
(1) T A (2) AR feraror/ aRyrTd
(3) IR favermm e (Afyer@)  (4)  USHIR I STEvaehand
eonst || HIFNIALIINE L Papec
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39. From the following two statements of Assertion (A) and Reasoning (R) indicate the correct
code :
Assertion (A) : Development in HRM is a short-term educational process with temporary
intervention.
Reasoning (R) : It is a educational process utilizing a systematic and organized procedure
for development of operative employees performance in current jobs.
Code :
(1) (A) is correct and (R) is correct explanation of (A).
(2) (A) is correct, but (R) is not correct explanation of (A).
(3) (A) is not correct, but (R) is correct.
(4) (A) and (R) both are not correct.
40. Match items of List - I with List - II relating to methods of performance appraisal and
indicate the correct code of matching.
List - I List - II
(a) Paired comparison method (i)  Reviewing employee records and holding
interview on definite test questions.
(b) Forced choice description method (ii)  Set of pair phrases or descriptive statements
(c) Critical Incidents method (iii) Differentiating between effective and non -
effective performance on basis of achievements
(d) Field review method (iv) Relative ranking method
Code :
@ () © @
W) (v @ @@ 6
@ @ @ @) 0
@) G O @) @
@) @ ) O G
41. Match the following items of List - I with the items of List - II and indicate the code of
correct matching :
List - I List - II
(Name of organisation) (Year of establishment)
(a) IDBI @i 1956
(b) ICICI @) 1955
(c) LIC of India (i) 1990
(d) SIDBI (iv) 1964
Code :
@ () © @
O @ O @ W)
@ @ 6 @) (@
@) v @ @ )
@) O @ @ @)
s TR s Fapec

https://www.freshersnow.com/previous-year-question-papers/



39. frAfafEa fuerem (A) X ek (R) % 31 FoHl § F2 Fe Giad g :

40.

AR@HT (A) :
q&h (R):

TS 1A Joo | faehme STl S&aard & |1 Teushiictsh Qeiforh Tfshan g1
I IIH AR | h1Ed HHATE o hafTe o fasm & fau sgafeq qen
ufed wferan =1 T wLd gU T ek ufwar T

<< :

(1) (A) ¥ 2 3R (R), (A) T & =0 7

) (A) T TfHFT (R), (A) F FE = T 8
3) (A) @&l 7 T, TR (R) W&l T

(4) (A) 3R (R) I &I & T

& IR Yeiehd ggfodl § Safed e - 191 et - 11 el § gafed s i) 3 & 98t

e I AT HIT -
g -1
(a) IFHA qo ISid

(b) ST =FA foaawe ggfd
(c) wEwEYU A UGhd

T - 11
() HHART & SufHer@l S e HEA qn Hivea ahe
Tl o SR W HIETGHR BT
(ii) ™™ SN 1 GHE A1 fIexureHeh hed
(iii) YA o ER W FHET IR g
FHEIfTEA % e faug e
(iv) Hmafers Y& - fuRo agfa

41. GOt - 16 781 o Got - 113 T3l o 919 gafe oL iR 92 %e =i fafga s

v)

@ O @ @ G
ransy [N

T - 11
( TRATYAT T T )
(i) 1956
(i) 1955
(iii) 1990
(iv) 1964
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42. Statement (I) : Capital adequacy norms help banks in strengthening their capital base.
Statement (II) : Capital adequacy norms help banks in sanctioning more loans.
Code :
(1) Both the Statements (I) and (II) are correct.
(2) Both the Statements (I) and (II) are incorrect.
(3) Statement (I) is correct but (II) is incorrect.
(4) Statement (I) is incorrect but (II) is correct.
43. What is Hawala ?
(1) Tax evasion (2) Illegal trading in stock exchanges
(3)  Bank robbery (4) Illegal transactions of foreign exchange
44. Read the following events :
(i) Capital adequacy norms for commercial banks
(ii) Establishment of IDBI
(iii) Allowing convertibility of rupee at the market rate in the current account.
(iv) Nationalisation of general insurance business
Arrange the events in the ascending order of their occurrance :
(1) ), (), (i), () ) (), (i), @), 6)
(3) (), () () (i) (4) @), (), (iv), (i)
45. Assertion (A) : The future will see mostly the electronic money clearance through satellite
networking.
Reasoning (R) : RBI is encouraging e-banking.
Code :
(1) (A) is true but (R) is false.
(2) (A) is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) does not support (A).
46. Statement (I) : Developing countries can borrow more than their quota under Extended
Fund Facility (EFF) of IMF.
Statement (II) : The Extended Fund Facility (EFF) was created in 1984 to help the developing
countries over longer period upto 3 years.
Code :
(1) Statement (I) is correct but (II) is not correct.
(2) Statement (II) is correct but (I) is not correct.
(3) Both the statements (I) and (II) are correct.
(4) Both the statements (I) and (II) are not correct.
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42, RA (I): Yol ATl GiaHM Skl Sl STeh! SR Uil 1 Tl e H Heg A ¢ |
HYUT (I1) : ST AT Ficmr sfeni st 31fereh o1 Widhd w1 § Teg i © |
(1) .EFW(I)aﬁ'{EFW(II)ﬁW%I (2) AT (I) IR e (I1) THI Terd T
(3) YT (I) TEI § <feh e (II) Td ©1 (4) R (I) TTeTd € ik aher (1) T2 T
43. T P ?
(1) T &= 2) W%k TS H 19y AR
(3) S ol (4) foceh 921 *1 e@Y TA-<F
44, Tr=fafed seTel & 9 :
(i) =EEIes sl % fern It vatadr gfaue
(i) 3TS I it 3T A TTA
(iif) <] WId § ISR g T &9 i faf0ar i sAgafd
(iv) SR SYINH SR H TR
SIEISTT hl 3ok Ffed B o STRIEI i H e hifa :
1) (@), (), (iid), (iv) (2) (v, (i), (iD), (i)
(3)  (v), (id), (i), (iii) (4) (1), (i), (iv), (i)
45. SMUSRIT (A) : HIAEE AT o R o § AfRiva: seiaeie o= et g |
qeh (R): STRE.STE., S-AfhT 1 YicHTied il § |
f: (A) T& € WfRT (R) Tora ® |
(2) (A)TTerd € Wi (R) Wl R
(3) (A) IR (R) S W € SR (R), (A) T T =0 2
4) (A) 3R (R) S =& € AfhA (R), (A) T FHLT & L |
46. HAA (I): AETHUE & fowaiika wy aen & Tl faemeiel 90 T Fie F 2w SUR &
T &
HA (10) : ﬁwﬁ;wwm 1984 H faepresiict <39I =t i< o qek i Sefaf ek Terrl & fay
fHa =t 78 oft
e :
(1) oA () T&I T Afend (1) T2 78 2 |
(2) AT () TR & Afh (1) Wl 78 2|
(3) YT (I) 3w (I1) I T |
(4) YA () R HA (1) I & & T |
T T
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47. Match the items of List - I with those of List - II; and choose the correct code of
combination :
List - I List - II
(a) Poverty Reduction @i 1997
and Growth Facility(PRGF)

(b) Supplemental Reserve Facility (SRF) (i) 1974

(c) Extended Fund Facility(EFF) (i) 1999

Code :

@ ®) (©

O G O

@ @) @ o

@) @ O @

@) 0 G @

48. Who among the following has given Absolute Advantage Model of international trade ?

(1) Adam Smith (2) David Recardo

(3) Hackscher Ohlin (4) William Petty

49. Which among the following is not an international economic institution ?
(1) IMF (2) IBRD (3) ADB (4) IFRS
50. Assertion (A) The fall in aggregate expenditure or aggregate demand in the economy
works to reduce imports and help in solving the balance of payment
problems.

Reasoning (R) The important way to reduce imports and thereby reduce deficit in
balance of payments is to adopt monetary and fiscal policies that aims
at reducing aggregate expenditure in the economy.

Code

(1) (A) and (R) both are correct and (R) supports (A).

(2) (A) and (R) both are correct but (R) does not support (A).

(3)  (A) is correct but (R) is incorrect.

(4) (R) is correct but (A) is incorrect.

-00o0-
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47

el - 11 O3 ol Gt - 113 Ta1 o 91 gafed L 3R T4eH & 981 e &l 9

el -1 gl - 11
(a) T H wHr AR g glawn (RSt wh) (@) 1997
(b) ST Rferd Glaen (TH 3N TH) (i) 1974
(c) Toreaid shiw gfaen (3 T wh) (i) 1999
e
(@ () (9
1) @) @ @)
(2 @) @) @)
) (@) @) (i)
4) (@ (@) (i
48. TrAfafEd ¥ 9 fhde STy AR &1 FRue oy aiey fean ?
(1) ueH f@my ) fae fenret (3) B Irfem 4) Tafemm ¥
49. frafafed § ¥ ®F 91 g snfdie G 78 € 2
(1) T Th ) EsIRE (3) T (4) 3TE TH IR TH
50. RO (A) : TR H THE = TUEl GHE T § e ST 1 %8 3 S FHH Hdl § IR
T HJe 1 FEEst & e H 7eg it B
qeh (R) : 3T HH T 1 HeaYUl A1 TR IHh GRT FTaH Hqe § =1, STifeeh 3R Tt
Fifqat 1 TR0 AT § Forent @ie steferaen § quE o 9 ST §
§= (A) 3R (R) I T&I € 3R (R), (A) T FHT Fl B |
2) (A) R (R) 3 T T ARRA (R), (A) 1 0T T et |
(3)  (A) W& B AR (R) TTerd § |
(4) (R) W@ g WfHA (A) 7o B
-00o0-
eoos7 |11 2
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